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1. Let A= {a,b,c,d} and consider the following relation on A: Q B @
R = {(a,a),(a,c), (b c), (bb),(dc),(a,b), (c,c), (d,b), (a,d) }. 5 >
(a) Draw a diagram of this relation. l

& ——> 0
RO
(b) Is this relation reflexive?

No because dFA.

(c} Is this relation symmetric?

Aecavsa Lo mstunce afh  bub éﬁq

( ) Is thls relation transitive?
\/€S 3 mspéméovt ,’Krgg A j@ 2 = AR 2
Ff—a\r wfﬂ X, ‘fj 2 & A

2. Consider the = (mod 3) relation on Z. Prove that this relation is transitive.

We must <how ‘Maf L Z”‘ﬂ (Mmod 3 ) omd yzz (mod 3)
/H\M =27 (Mol 3) /
We w/// WAY4 Jw’eo{ ?DV’OG'C

Asgume x=Yy (Mo d 3) ond Y= 2z (Mo 3)
Thia  meams *Jﬂ(%j)w 3{[(‘} -z .
Cowsegumﬂ‘j B’g =3R| ond mewm 3,QJ7CN <QC[7_
/\ﬂﬂ‘?{"\j 'ﬂu hox el ¢q vl o vesults 1

x -2z = 3k +31 _-—B(Ya.+ﬁ, Hence 3[(x-2),

M .vagegu\ay&/g x = Z (VﬂOO( 3) _
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1. Let A={a,b,c,d} and consider the following relation on A:

R={(a,b), (b,a), (a,¢),(c,a),(a,a), (b,b). (c,c), (¢, d)}. ' a @
. o . N —_D <
(a) Draw a diagram of this relation. _ C j:h___/

(b) Is this relation reflexive?

Ves ! xzPx fw Mo e d

~ (c) Is this relation symmetric?

Yes | %Rg——)y/@f vy €Al

(d) Is this relatlon transitive?

NO Foe msﬁﬂce cRec A a Ab but c/'Vb

2. Prove that the | (divides) relation on Z is tra.ns1t1ve

We meeirb?vwé that 16 X(Erj oy 3{2 ,ﬁ,\{,m 9{(,&
\We v\/t\\ usSe C,(Wecﬂ (PVOD[T

Su')Pogi 7(("3 g - ‘jl%
This weans 4= %‘Q ol % = (\j,@ L Come (€QCZ
Thaw z = ji*’ XIQ,Q ’ﬂr\od“ S 12- (ke ) \

For kL € Z
We:re,-s;\re 9((2—




